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ΜΑΘΗΜΑΤΙΚΑ ΕΠΑΛ 

ΑΠΑΝΤΗΣΕΙΣ 

ΘΕΜΑ  Α 

Α1.  § 1.3 

Α2.  α.  §  2.1 

Α2.  β.  §  2.1 

Α3.       α.  Λ 

β.  Σ 

γ.  Λ   

δ.  Λ 

ε.  Σ 

 

ΘΕΜΑ  Β 

𝑆2 = 4 ⇔ 𝑆 = √4 = 2 

B1.   𝐶𝑉 =
𝑆

|𝑥̅|
⇔ |𝑥̅| =

𝑆

𝐶𝑉
⇔ |𝑥̅| =

2

0.2
⇔ |𝑥̅| = 10 ⇔ 𝑥̅ = 10  γιατί  𝜒𝜄 > 0 

B2.  
11+7+𝑘+13+11+10

6
= 10 ⇔ 52 + 𝑘 = 60 ⇔ 𝑘 = 8 

Β3.  7,  8,  10,  11,  11,  13 

𝛿 =
𝑡3 + 𝑡4

2
⇔ 𝛿 =

10 + 11

2
⇔ 𝛿 = 10,5 

𝑅 = 𝑚𝑎𝑥𝑡𝑖 − 𝑚𝑖𝑛𝑡𝑖 = 13 − 7 = 5 

B4.  𝑦𝑖 = 𝑡𝑖 − 2  άρα  𝑦̅ = 𝑥̅ − 2 = 10 − 2 = 8 

𝑆𝑦 = 𝑆 = 2  

Άρα  𝐶𝑉 =
𝑆

|𝑦̅|
=

2

8
=

1

4
= 25% > 10%  άρα το δείγμα δεν είναι ομοιογενές. 
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ΟΡΟΣΗΜΟ ΠΕΙΡΑΙΑ 

ΚΑΤΣΙΜΠΡΑΣ ΕΥΘΥΜΗΣ 

ΜΠΑΞΕΒΑΝΙΔΗΣ ΓΡΗΓΟΡΗΣ 

ΧΑΡΙΣΗ ΣΤΕΛΛΑ 

ΝΑΣΟΠΟΥΛΟΥ ΕΛΠΙΔΑ 

ΚΑΜΜΑΣ ΠΑΝΤΕΛΗΣ 

 

 


